www.cablematic.com

: INSTALLATION MANUAL

~ CAUTION: DO NOT EXCEED RATED
- LISTED WEIGHT CAPACITY. SERIOUS

INJURY OR PROPERTY DAMAGE MAY

\ OCCURI

ISSUED: FEB. 2013

Component Checklist

IMPORTANT: Ensure that you have received all parts according to the component checklist prior to installation.
If any parts are missing or faulty, telephone your local distributor for a replacement.

="

decorative cover (x1)
B

ceiling plate (x1)
A

L//
mounting leg (x3) 15cm extension pipe (x1) 8cm extension pipe (x1)
D E F
Package M
Py
N
@_ @m ey
M4x14 (x4) M5x20 (x3) M6x12 (x3) 4mm Allen key (x1)
M-A M-B M-C M-D
T o O
@ @’ é;:gj —
adjustable part (x3) M6 washer (x3) adjustable part (x2) spacer (x6)
- M-F M-G M-H
Package W
Q
876.3x50 (x3) concrele anchor (x3) D6 washer (x6)

W-A w-B w-C

"2


GUB
video-sticker-2


1a. Wood Ceiling Mounting

50mm
(2

2 4.5mmil
(o 3/16")

Find and mark
the exact location
of mounting holes |2

FR

'3

Drill three
pilot holes

Screw the
celling plate
onto the ceiling

/\ WARNING

+ Installers are responsible to provide hardware for other types of mounting situations.

+ Installers must verify that the supporting surface will safely support the combined weight of the
equipment and all attached hardware and components. 1

3

1b. Solid Brick and Concrete Mounting

(.
Be——
(=d G (=3 (=3 =i (==
&
<=
' -

/\ WARNING

Mark the exact
location of
mounting
holes

Drill three pilot
holes

Screw the
ceiling plate
onto the ceiling

Installers must verify that the supporting surface will safely suppert the combined weight of:
the equipment and ail attached hardware and components,

4



2. Installing the Decorative Cover and the Extension Pipe

EcTrF

* Run the projector

cables through

the pipe.

Press in the two
bolts at the same
time and connect
extension pipe to
ceiling plate.

Turn bolt outside
formaximum
safety, it

S«

3. Attaching the Mounting Legs and the Projector Plate

Locate the projector's mounting points.
Screw the mountin g legs onto the projector.

Ep.biﬂt?rr TIGHTEN ALL SCREWS AT THIS TIME.

6



7 44

Place the projecior plate on the mounting legs, as close as to projeclor center of gravity as possible.

Slightly adjust the arms to fit slots paitern on the projector plate. And then use screws and washers
tofix the projector plate.

Tighten the all mounting screws which secure the mounting legs to the projector at this time.

3b. for Toshiba projectors

. Attach the adjustable part to
the projector using the screws.

Locate the projector's mounting points.
Screw the mounting legs onto the
projector.

DONOT TIGHTEN ALL SCREWS
AT THIS TIME.

Place the projector plate on the mounting
legs, as close as to projector center of
gravity as possible. Slightly adjust the
arms to fit slots pattern on the projector
plate. And then use screws and washers
to fix the projector plate.

Tighten the all mounting screws
which secure the mounting legs
to the projector at this time.

"8



3b-2. for Philips projectors

Insert adjustable part into
projector.

Locate the projector’s mounting points.
Screw the mounting legs onto the
projector.

DO NOT TIGHTEN ALL SCREWS
AT THIS TIME.

Place the projector plate on the mounting
legs, as close as to projector center of
gravity as possible. Slightly adjust the
arms to fit slots pattern on the projector
plate. And then use screws and washers
to fix the projector plats.

Tighten the all mounting screws which |
secure the mounting legs to the projector
at this time. il

9 e

4. Hang the Projector onto the Ceiling Mount

‘Turn bolt outside for maximum
safety.

Press in the two bolts at the same time and connect projector plate to pipe.
Important: Make sure the projectoris correctly hooked before releasing the projector.

5. Adjustment i i

4\

-15° ~ 15°

Adjust to the desired location or tilt,

w10



